	nent sheet								
Company Name:		MRMallapur LLP			Approved by:		Ramprasad		
Project:		Gulmohar Residency			Sign:				
Work Des	the state was a second of the second state of	Boulders cutting to si	ze 2'6" x 2'6	" x 2'6"					
Contracto		R.Anjaiha							
Prepared	By	P.Sai Kumar							
Date:		10.12.19							
			Α	В	C	D	E= AxBxCxD	F	
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units	
1	C-block	Boulders	8.00	5.00	4.50	1.00	180.00	Cft	
			8.00	3.00	4.00	1.00	96.00	Cft	
			7.00	6.00	3.50	1.00	147.00	Cft	
			4.00	3.00	2.50	1.00	30.00	Cft	
			6.00	4.00	5.00	1.00	120.00	Cft	
			8.50	3.00	3.00	1.00	76.50	Cft	
			7.00	6.00	4.00	1.00	168.00	Cft	
			5.00	5.00	3.00	1.00	75.00	Cft	
			4.00	3.50	4.00	1.00	56.00	Cft	
			5.00	3.00	3.00	1.00	45.00	Cft	
			4.50	3.50	4.00	1.00	63.00	Cft	
			7.00	3.50	3.00	1.00	73.50	Cft	
			8.00	5.00	3.50	1.00	140.00	Cft	
			6.00	2.50	3.00	1.00	45.00	Cft	
			4.00	2.50	3.00	1.00	30.00	Cft	
			6.50	3.00	2.50	1.00	48.75	Cft	
			4.00	3.00	4.50	1.00	54.00	Cft	
			4.00	3.00	2.50	1.00	30.00	Cft	
			6.50	3.00	4.00	1.00	78.00	Cft	
			3.00	3.50	3.00	1.00	31.50	Cft	
	ļ		5.00	2.50	3.00	1.00	37.50	Cft	
	Ļ		5.00	5.00	3.00	2.25	75.00	Cft	
			6.00	4.50	2.00	1.00	54.00	Cft	
			8.00	5.00	3.00	1.00	120.00	Cft	
	ļ		4.00	3.00	2.00	1.00	24.00	Cft	
	1		5.00	3.00	3.00	1.00	45.00	Cft	

	 4.00	4.00	3.50	1.00	56.00	Cft	
1	7.00	3.50	3.00	1.00	73.50	Cft	
·····	4.50	3.00	2.00	1.00	27.00	Cft	
l	8.00	5.00	3.00	1.00	120.00	Cft	
1	8.00	4.00	2.00	1.00	64.00	Cft	
	5.00	3.00	4.00	1.00	60.00	Cft	
ĺ	4.00	3.00	3.00	1.00	36.00	Cft	
1	4.00	3.00	2.00	1.00	24.00	Cft	
Ī	5.00	4.00	3.00	1.00	60.00	Cft	
	6.00	3.00	4.00	1.00	72.00	Cft	
Î	4.50	3.00	4.00	1.00	54.00	Cft	
1	4.00	5.25	3.00	1.00	63.00	Cft	
	5.00	4.50	3.00	1.00	67.50	Cft	
Ī	4.33	3.50	3.00	1.00	45.47	Cft	
1	5.00	4.00	4.50	1.00	90.00	Cft	
Î	3.00	4.50	3.50	1.00	47.25	Cft	
1	3.66	3.50	4.00	1.00	51.24	Cft	
·····	 3.50	2.00	3.00	1.00	21.00	Cft	
	5.25	3.50	3.00	1.00	55.13	Cft	
1	 4.00	5.50	1.50	1.00	33.00	Cft	
	 3.50	4.00	3.00	1.00	42.00	Cft	
1	4.00	4.00	3.00	1.00	48.00	Cft	
	6.50	3.00	2.00	1.00	39.00	Cft	
1	6.00	4.00	3.00	1.00	72.00	Cft	
	7.00	4.00	3.00	1.00	84.00	Cft	
Î	5.50	5.00	3.00	1.00	82.50	Cft	
	4.00	5.00	3.00	1.00	60.00	Cft	
1	5.00	4.00	3.50	1.00	70.00	Cft	
Ī	4.00	3.00	2.50	1.00	30.00	Cft	
	6.00	4.00	4.50	1.00	108.00	Cft	
ĺ	5.00	4.00	3.00	1.00	60.00	Cft	
	 5.00	4.50	3.00	1.00	67.50	Cft	
	 	÷			42.00	÷	
	 4.00	3.50	3.00	1.00		Cft	
Į	 4.00	5.00	4.00	1.00	80.00	Cft	
	8.00	5.00	4.00	1.00	160.00	Cft	

	8.00	5.00	3.75	1.00	150.00	Cft	
	7.00	6.00	5.00	1.00	210.00	Cft	
	11.00	6.00	2.50	1.00	165.00	Cft	
	7.00	4.00	3.00	1.00	84.00	Cft	
	4.00	3.50	3.00	1.00	42.00	Cft	
	4.50	3.00	3.50	1.00	47.25	Cft	••••••
	5.00	3.50	4.00	1.00	70.00	Cft	••••••
	7.00	4.50	4.00	1.00	126.00	Cft	••••••
	6.00	5.00	1.50	1.00	45.00	Cft	••••••
	5.00	6.00	1.50	1.00	45.00	Cft	
ļ	6.00	4.00	1.00	1.00	24.00	Cft	••••••
	4.00	4.00	3.00	1.00	48.00	Cft	
	12.00	5.00	2.50	1.00	150.00	Cft	
	5.00	4.00	2.50	1.00	50.00	Cft	
	4.00	2.50	1.50	1.00	15.00	Cft	•••••
	4.00	2.50	2.00	1.00	20.00	Cft	•••••
	4.00	3.00	2.00	1.00	24.00	Cft	•••••
	3.50	2.00	2.00	1.00	14.00	Cft	•••••
	4.00	3.00	5.00	1.00	60.00	Cft	•••••
	5.50	3.50	1.50	1.00	28.88	Cft	
	4.00	1.50	3.00	1.00	18.00	Cft	
	5.00	3.00	4.00	1.00	60.00	Cft	••••••
	4.00	2.00	3.50	1.00	28.00	Cft	••••••
	4.50	3.00	3.00	1.00	40.50	Cft	
	4.50	3.00	2.00	1.00	27.00	Cft	
	3.50	3.00	3.00	1.00	31.50	Cft	
	4.50	2.50	2.50	1.00	28.13	Cft	•••••
	3.00	3.00	2.50	1.00	22.50	Cft	
	3.50	2.50	2.00	1.00	17.50	Cft	•••••
	3.50	3.00	4.00	1.00	42.00	Cft	
	4.00	3.50	2.00	1.00	28.00	Cft	

ļ	3.00	1.50	5.00	1.00	22.50	Cft	
	 3.50	3.00	2.50	1.00	26.25	Cft	
L.	5.00	4.00	1.50	1.00	30.00	Cft	
	2.50	3.50	5.00	1.00	43.75	Cft	
ļ	4.00	1.50	2.00	1.00	12.00	Cft	
	2.50	3.00	2.00	1.00	15.00	Cft	
	2.50	4.00	2.00	1.00	20.00	Cft	
	4.50	4.00	3.00	1.00	54.00	Cft	
Ĺ	4.00	3.00	3.00	1.00	36.00	Cft	
<u> </u>	4.00	4.00	2.00	1.00	32.00	Cft	
	4.00	2.50	3.00	1.00	30.00	Cft	
	2.50	2.50	3.00	1.00	18.75	Cft	
	 3.50	3.50	2.50	1.00	30.63	Cft	
Į	4.50	3.50	3.00	1.00	47.25	Cft	
	5.50	5.00	3.00	1.00	82.50	Cft	
	3.00	3.00	2.00	1.00	18.00	Cft	
	11.00	5.00	2.50	1.00	137.50	Cft	
	3.00	4.00	3.50	1.00	42.00	Cft	
	4.00	6.00	3.00	1.00	72.00	Cft	
	4.00	3.00	3.00	1.00	36.00	Cft	
	 4.00	2.50	3.00	1.00	30.00	Cft	
	5.00	4.00	2.00	1.00	40.00	Cft	
	5.00	3.50	3.00	1.00	52.50	Cft	
	4.00	5.00	3.00	1.00	60.00	Cft	
	 4.00	4.00	4.00	1.00	64.00	Cft	
	7.00	4.00	4.50	1.00	126.00	Cft	
	4.00	2.50	3.00	1.00	30.00	Cft	
	4.00	1.50	3.00	1.00	18.00	Cft	
	8.00	4.00	4.00	1.00	128.00	Cft	
	5.00	4.50	3.00	1.00	67.50	Cft	
	6.00	3.00	4.00	1.00	72.00	Cft	

	4.00	3.00	4.00	1.00	48.00	Cft	
l	5.00	4.00	7.00	1.00	140.00	Cft	
	4.00	3.50	3.50	1.00	49.00	Cft	
	5.00	4.00	2.00	1.00	40.00	Cft	
	4.00	3.00	2.50	1.00	30.00	Cft	
	5.00	5.00	2.00	1.00	50.00	Cft	
	5.00	3.00	2.00	1.00	30.00	Cft	
	4.50	4.00	2.00	1.00	36.00	Cft	
	4.00	2.00	1.50	1.00	12.00	Cft	
	4.00	5.00	2.00	1.00	40.00	Cft	
	3.50	3.00	2.00	1.00	21.00	Cft	
	4.00	4.50	2.00	1.00	36.00	Cft	
ļ	4.00	3.00	3.00	1.00	36.00	Cft	
	4.00	2.00	2.50	1.00	20.00	Cft	
	6.00	4.00	3.00	1.00	72.00	Cft	
	6.00	3.00	3.00	1.00	54.00	Cft	
ļ	4.00	3.00	2.00	1.00	24.00	Cft	
	3.00	3.50	2.00	1.00	21.00	Cft	
	5.00	2.50	2.00	1.00	25.00	Cft	
	3.00	3.00	2.75	1.00	24.75	Cft	
ļ	4.00	3.00	3.00	1.00	36.00	Cft	
	3.00	3.50	3.00	1.00	31.50	Cft	
ļ	4.00	2.00	2.50	1.00	20.00	Cft	
	5.00	4.00	3.00	1.00	60.00	Cft	
Ĺ	3.00	3.50	3.00	1.00	31.50	Cft	
	4.00	2.50	3.00	1.00	30.00	Cft	
	6.00	3.00	2.00	1.00	36.00	Cft	
l	4.00	2.50	3.00	1.00	30.00	Cft	
	4.50	2.50	3.00	1.00	33.75	Cft	and a second
	4.00	3.00	2.00	1.00	24.00	Cft	
	3.00	3.00	2.00	1.00	18.00	Cft	

3.00	3.50	2.50	1.00	26.25	Cft	
3.50	2.50	2.00	1.00	17.50	Cft	
3.00	3.00	2.50	1.00	22.50	Cft	
3.00	2.00	4.00	1.00	24.00	Cft	
2.50	3.00	2.00	1.00	15.00	Cft	
4.00	3.00	2.00	1.00	24.00	Cft	
6.00	3.50	2.00	1.00	42.00	Cft	
4.00	3.00	3.00	1.00	36.00	Cft	
7.00	3.00	2.50	1.00	52.50	Cft	
5.00	3.00	9.00	1.00	135.00	Cft	
4.00	3.00	2.50	1.00	30.00	Cft	
4.00	3.50	3.00	1.00	42.00	Cft	
4.00	3.00	3.00	1.00	36.00	Cft	
5.00	3.00	3.00	1.00	45.00	Cft	••••••
4.00	3.00	2.50	1.00	30.00	Cft	
3.00	3.50	2.00	1.00	21.00	Cft	
3.00	2.00	2.00	1.00	12.00	Cft	
 4.00	2.00	2.50	1.00	20.00	Cft	
3.00	4.00	2.00	1.00	24.00	Cft	
5.00	6.00	5.00	1.00	150.00	Cft	
4.00	3.50	3.00	1.00	42.00	Cft	
3.00	2.00	3.00	1.00	18.00	Cft	
4.00	2.50	2.00	1.00	20.00	Cft	
4.00	2.50	2.00	1.00	20.00	Cft	
3.50	2.50	3.00	1.00	26.25	Cft	
3.00	3.00	2.00	1.00	18.00	Cft	
3.50	3.50	3.00	1.00	36.75	Cft	
4.00	2.00	4.50	1.00	36.00	Cft	
3.00	4.00	4.00	1.00	48.00	Cft	
5.00	2.00	4.00	1.00	40.00	Cft	
3.00	3.50	2.50	1.00	26.25	Cft	

 3.50	4.00	2.00	1.00	28.00	Cft	
 4.00	2.50	2.00	1.00	20.00	Cft	
3.50	4.50	3.00	1.00	47.25	Cft	
 4.00	4.00	1.50	1.00	24.00	Cft	
 3.00	3.50	2.50	1.00	26.25	Cft	
 4.00	2.50	2.00	1.00	20.00	Cft	1
 4.00	3.25	3.00	1.00	39.00	Cft	
5.00	3.00	3.00	1.00	45.00	Cft	1
 5.00	3.00	2.00	1.00	30.00	Cft	
3.50	2.00	2.00	1.00	14.00	Cft	1
 6.00	3.00	3.00	1.00	54.00	Cft	
l					1	10006.205

Estimate Sheet

Company Na	ime:	MRMallapur LLP			Approved by:	Ramprasad
Project:		Gulmohar Residency	1		Sign:	runprusuu
Work Descri	ption:	Boulders cutting to siz	e 2'6" x 2'6" x	2'6"		
Contractor N	lame:	R.Anjaiha	T			
Prepared By		P.Sai Kumar				
Date:		10/12/2019				
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount
1	CBlock	Boulders Cutting	10006.00	CFT	20	200120

Allowance for Consumables

R.Anjaiah , Mallapur,Hyderabad.

Date: 10.12.19

In favor of:	MRMallapurLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur
Type of Work:	Boulders cutting to size 2'6" x 2'6" x 2'6"
Towards:	Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done:Boulders cutting to	
	size 2'6" x 2'6" x 2'6" work done at F-Block area.	Rs.40,032/-
	Total Amount =2,00,160/-	
	Work done from date 21-11-19. to date 09.12.19.	

Amount in words : Fourty Thousand Thirty Two Rupees Only.

Sign: _____

Bill for Equipment Allowance

R.Anjaiah, Mallapur,Hyderabad.

Date: 10.12.19

In favor of:	MRMLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur
Type of Work:	Boulders cutting to size 2'6" x 2'6" x 2'6"
Towards:	Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Boulders cutting to	
	size 2'6" x 2'6" x 2'6" work done at F-Block area.	Rs.80,064/-
	Total Amount =2,00,160/-	
	Work done from date 21-11-19. to date 09.12.19.	

Amount in words: Eighty Thousand Sixty four Rupees Only.

Sign: _____

Bill for Labour Charges

R.Anjaiah , Mallapur,Hyderabad.

Date: 10.12.19

In favor of:	MRMallapurLLP					
Project / Site:	Gulmohar Residency					
Location:	Mallapur					
Type of Work:	Boulders cutting to size 2'6" x 2'6" x 2'6"					
Towards:	Labour Charges					

S No.	Description	Amount
1.	Brief description of work done: Boulders cutting to	
	size 2'6" x 2'6" x 2'6" work done at F-Block area.	Rs.80,064/-
	Total Amount =2,00,160/-	
	Work done from date 21-11-19. to date 09.12.19.	

Amount in words: Eighty Thousand Sixty Four Rupees Only.

Sign: _____

Sl. No. – site bills register		-36 -			Date - site bills Register			10/12/2019		
Com	0			lapur Up Site:				GMR		
Nam	e of Contractor	1	Anjaiha							
Natu	re of work		Iders C		a io	to 2's"	x 2'6	"x 2'6"	Size	
Wor	k done	Fron	From Date 21 11 2019 To						2/2019	
SI. No.	Villa/Flat/block no.		Qty. R			Units	Amount		Contractors bill no	
1.	C-block		-10006-	006- 20/		No's	Rs. 200120		-	
2.		_								
3.	/						/			
4.				/						
5. 6.	/			/			-/	_/		
7.	/			/				-/		
8.										
9.	/		/							
10.										
11.			^				Rs. 2,00,120/			
	required		ES ZNO.		GST bill require		red	□ YES №ŇO.		
			Required		Measurement & estimate sheet:			Enclosed		
	estimate sheet:			ot required				□ Not enclosed		
	arks :					VO date:				
Арри	oved by Project Ma	Appro	Approved by Design Team				Approved by M.D.			
Date: 11 12, 19			Date:	Date:				Date:		
Sign	Sign: Boundit			Sign:				Sign:		

Construction division. Advice for giving credit to contractors/suppliers.

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.